BANYULE PLANNING SCHEME

181012018 SCHEDULE TO CLAUSE 72.03 WHAT DOES THIS PLANNING SCHEME CONSIST
OF?
1.0 Maps comprising part of this planning scheme:

Ssomampistiies c1720any 1, 1DCPO, 1ESO, 1SBO, 1SCO, 1VPO [
. 2, 2DCPO, 2DDO, 2ESO, 2HO, 2LSIO, 2SBO, 28CO, 2VPO
. 3,3DCPO, 3ESO, 3DDO, 3HO, 3LSIO, 3PAO, 3SBO, 3SCO, 3VPO
. 4,4DCPO, 4DDO 4ESO, 4HO, 4PAO, 4SBO, 4SCO, 4VPO
. 5, 5DCPO, 5ESO, SHO, 5SBO, 5SCO, 5VPO
. 6, 6DCPO, 6DDO, 6ESO, 6HO, 6PAO, 6SBO, 6SCO, 6VPO
. 7,7DCPO, 7DDO, 7EAO, 7ESO, 7HO, 7LSIO, 7PAO, 7SBO, 7SCO, 7VPO
. 8, 8DCPO, 8DDO, 8ESO, 8HO, 8LSIO, 8SBO, 8VPO
. 9,9DCPO, 9DDO, 9ESO, 9HO, 9LSIO, 9SBO, 9VPO
. 10, 10DCPO, 10DDO, 10ESO, 10HO, 10LSIO, 10SBO, 10SCO, 10VPO
. 11, 11DCPO, 11DDO, 11ESO, 11HO, 11LSIO, 11PAO, 11SBO, 11SCO, 11SLO, 11VPO

« 12, 12BMO, 12DCPO, 12DDO, 12ESO, 12HO, 121PO, 12LSIO, 12PAO, 12SBO, 12SLO,
12VPO

= 13, 13BMO, 13DCPO, 13DDO, 13ESO, 13HO, 13PAO, 13LSIO, 13SBO, 13SCO, 13SLO,
13VPO

= 14, 14DCPO, 14DDO, 14DPO, 14ESO, 14HO, 14LSIO, 14PAO, 14PO, 14RXO, 14SBO,
14SCO, 14VPO

= 15, 15DCPO, +5BB6;-15DPO, 15EAQO, 15ESO, 15HO, 15LSIO, 15PO, 15SBO, 15SLO, |
15VPO

= 16, 16DCPO, 16DDO, 16EAO, 16ESO, 16HO, 16LSIO, 16PAO, 16PO, 16SBO, 16SCO,
16SLO, 16VPO

« 17,17BMO, 17DCPO, 17DDO, 17ESO, 17HO, 17LSIO, 17PAO, 17SLO, 17VPO
« 18, 18BMO, 18DCPO, 18DDO, 18ESO, 18HO, 18LSIO, 18PAO, 18SLO, 18VPO

« 19, 19DCPO, 19ESO, 19DDO, 19DPO, 19HO, 19LSIO, 19PAO, 19RXO, 19SBO, 19SCO,
19SLO, 19VPO

= 20, 20DCPO, 20ESO, 20HO, 20LSIO, 20SBO, 20SLO, 20VPO
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